
 
 
 

 
 
 
 
 
 
 
 
 
 
 
 
 
 

１，次の二つの英文を、{ 節 }の順序を変えずに接続詞“because”を使って一つの文にしなさい。 
 
① My  mother  and  father  are  smiling .    They  are  happy . 

 
 

                                       
 
② Nancy  is  sick  in  bed .      She  won’t   come  to  the  party . 

 
 

                                       
 
③ I  have  no  money .       I  can’t  buy  this  nice  watch .  

 
 

                                       
 
④ We  will  play  baseball  in  the  park .     It  is  fine  today . 

 
 

                                       
 
⑤Ken  was  able  to  pass  the  examination .    He  studied  hard . 

 
 

                                       

 

☆ 『従属接続詞』･･･“because ～” 
 
 
 

 □  Ken  didn’t  come  to  school   because  he  had  a  cold  . 
 
 
    Because  Ken  had  a  cold  ,  he  didn’t  come  to  school  . 
 
 
    Because  he  had  a  cold  ,  Ken  didn’t  come  to  school  . 
 
 
 □  Everyone  likes  Alex   because  he  is  very  kind  . 
 
 
 
※ “because”は、｢Why ～ ? ｣の疑問文のときは「なぜなら～だからです。」と訳したが、 
『従属接続詞』のときは「～なので」と、この{ 節 }を必ず先に訳さなければならない。 

※ 「従属節の主語」は、主節の主語だけに限定されず、主節の目的語や補語の場合もある。 
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